
819-5361  OCT 2002

INSTALLATION INSTRUCTIONS
PIEZO IGNITOR KIT 826-1155

ITEM P/N DESCRIPTION QTY
1 807-1906 Ignitor Electrode Assembly 1
2 806-9101 Ignitor Bracket 1
3 809-0501 6-32 X 3/16-inch Slot Head Screw 1
4 809-0502 8-32 X 3/16-inch Slot Head Screw 2
5 900-2099 Trigger Bracket 1
6 810-1001 Ignitor Trigger 1
7 809-0364 #8 X 5/8-inch Hex Head Screw 2

1. If the fryer is equipped with a burner heat shield, remove the heat shield hanger screws at the front
of the main burner and remove the heat shield.

2. Disconnect the pilot gas tube from the pilot.  Remove the two mounting screws from the pilot
assembly and remove it from the burner assembly.

3. Attach the ignitor electrode assembly (Item 1) to the ignitor bracket (Item 2) using the 6-32 X
3/16-inch screw (Item 3) furnished with the kit, and then attach the ignitor bracket to the pilot
assembly using the two 8-32 X 3/16-inch screws (Item 4) furnished with the kit.

4. Remount the pilot assembly to the burner assembly using the screws removed in Step 2 and
reconnect the pilot gas tube.

5. Position the trigger bracket (Item 5) at a convenient location on the cabinet base and, using it as a
template, mark and drill two holes (any two of the three holes may be used) for mounting the
trigger bracket.

6. Insert the ignitor trigger (Item 6) into the trigger bracket as shown and secure it with the large nut.
Attach the trigger assembly to the cabinet using the two #8 X 5/8-inch screws (Item 7) furnished
with the kit and connect the electrode lead to the trigger.

7. If the fryer is so equipped, reinstall the burner heat shield using the screws removed in Step 1.

1

2

3

Pilot Assembly

4

Nut

7

6

5


